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() { 2 x + 3 = 12
5 x + 3 y = 2l
(2) { 2 x - 3 y =16
x + 2 y =1

(3){4x+5y=2

(4){3x+5y=ll

(5){2x+'7y=—3
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() 2 x + y = 12
.{ 5 x + y = 2|
O x 1 - @ x 1 7T,
2 x + y = 12
- ) 5 x + y = 2I
-3 x = -qg
x = 3
= 3 TOIARALT,
2 X 3 + 3 y = |2
3 'y =6
y = 2
(2) 2 x - 3 y =16
{ x + 2 y =1
O x 1 - @ x 2 7T,
2 x - 3 y = 16
- ) 2 x + 4 y = 2
-7y = 14
y = -2
y = -2  @IZRALT,
x + 4 = |
x = -3
(3) 4 x + 5 y = 2
{ 2 x - 3 y = -lIO
O X - @ x 2 7,
4 x + y = 2
- ) 4 x - 6 y = -20
Iy = 22
y = 2
y = 2 tOIKRALT,
4 x + 5 X 2 = 2
x = -2
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(4) 3 x + 5y =1l
{ 6 x - 3 vy =9
® x 2 - @ <,
6 x + 10 y = 22

- ) 6 x - 3 vy =49

13y = 13
y = |
y = | #OITRAL T,
3 x + 5 X | = Il
x = 2

(5) 2 x + 7y = -3
.{ 5 x -9y =19
® x5 - @ x 27,
IO x + 35 y = -Ib

- )10 x - 18 y = 38

53 y = -53
y = -l

y = -I TOITRAL T,

2 x + 7 x ( -1 ) = -3
x = 2
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